1.  Suppose that the population standard deviation (σ) for a normally distributed standardized test of achievement is known to be 7.20. What would the standard error of the sample mean ([image: image2.png]


 ) be if we were to draw a random sample of 16 test scores?
The answer is 1.8; however, I need to show work. 
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2. Estimate the standard error of the mean with the following sample of 30 responses on a 7-point scale, measuring whether an extremist hate group should be given a permit to demonstrate (1= strongly oppose 7 = strongly) favor):

3
5
1
4

3
3
6
6


2
3
3
1

1
2
2
1


5
2
1
3

4
3
1
4


5
2
2
3

3
4


The answer is SE = 0.27

3.  With the sample mean in Problem 2, find (a) the 95 % confidence interval and (b) the 99% confidence interval.

The answers are: (a) 2.38 – 3.49 (b) 2.19 – 3.68   I need to show work.

95% confidence interval = [image: image8.png]
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99% confidence interval = [image: image12.png]
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